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>» % Enterring the wvalue of matrix in different trends
> % By defining the Matrix L
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> % Today We're going to discuss the basic operation on Matrices
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== % By defitung the Matr &
== A=[1 2:4 69 8];

== % By Defining the Matriz B
== B=[03 3497
== U C=A*E
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Command Window
To get started, select MATLAR Help or Demeos from the Help menu
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V) elle Lo JS | 3 sdie S8 Leald )l JLial S6al) o 58 day je 48 siame gl e
s2a 3aecYl aaal (5 sl Cosiiall sae Jia gl Cua N aasis magic <Y alasiul
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== A=magic(3)
A=
1

5
9

0o
[N N s

== B=magic(¥)
E=

47 58 6% BD 1 12 23 34 45
57 6% TR9 11 22 33 44 48
&7 78 8 10 21 32 43 54 56
w7 18 200 31 42 53 55 &6

16 27 29 40 51 62 64 775 5
26 28 3% 50 61 Y2 M 4 15
36 38 4% 60 71 V3 3 14 45
27048 5% 70 Bl 2 13 24 35



